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HL7 CDAR2

Ver.1.1

JAHIS




Ver.1.1

C.
1.
section
EPD
EPD/Prescrip
tion, EPD/Dispensing,

EPD/Prescription

EPD/Dispensing

RF
C3275 Envelop
ed Signature
XAdES
-T
XAdES-X-L
1
<EPD>
<l-- -=>
<id extension="123456789012"/>
<l-- >

<Prescription>
<ClinicalDocument>
<l-- -—>
</ClinicalDocument>
<Signature>
<l-- -—>
</Signature>
</Prescription>
<l-- -—>
<Dispensing>
<l-- -—>
</Dispensing>
<Signature>
<l-- -—>
</Signature>

</EPD>




/EPD/Prescription

HL7 CDA R2 substan
2 ceAdministration
supply
4, doseCheckQuantity
supply
3
supply

entryRelationship/substanc

eAdministration




()
HL7 CDA

HL7 CDAR2
6.
8
XML HL7 CDAR2
HL7 CDA R2 D.
XML
3

RP 3 substanceAd

ministration






<component>
<section>
<code code="11" codeSystem="1.2.392.200250.2.1.2.2" displayName="" />
<entry>
<substanceAdministration classCode="SBADM" moodCode="RQQO">
<l-- -
<id extension="1" root="1.2.392.200250.2.3.1""/>
<text> 3 7 </text>
<l-— -—>
<effectiveTime xsi:type="IVL_TS">
<low value="21040911"/>
<high value="20140917"/>
</effectiveTime>
<effectiveTime operator="A" xsi:type="EIVL TS">
<event code="1013140400000000" codeSystem="1.2.392.200250.2.2.20" displayName=""

/s
</effectiveTime>
<l-- -=>
<doseQuantity value="1" unit="{TBL}"/>
<l-- -
<consumable>
<manufacturedProduct>
<manufacturedMaterial>
<code code="2329021F1ZZZ" codeSystem="1.2.392.200250.2.2.22" displayName="
/s

</manufacturedMaterial>
</manufacturedProduct>
</consumable>
</substanceAdministration>
</entry>
</section>

</component>




<component>
<section>
<code code="11" codeSystem="1.2.392.200250.2.1.2.2" displayName="" />
<entry>
<substanceAdministration classCode="SBADM" moodCode="RQO">

<l-- -
<id extension="99" root="1.2.392.200250.2.3.1""/>
<l— -=>
<id extension="1" root="1.2.392.200250.2.3.2"/>
<text> 4 7 </text>
<l-- -—>

<effectiveTime xsi:type="IVL_TS">
<low value="21040911"/>
<high value="20140917"/>
</effectiveTime>
<effectiveTime operator="A" xsi:type="EIVL TS">
<event code="1011000400000000" codeSystem="1.2.392.200250.2.2.20" displayName=""
/s
</effectiveTime>
<l-- -—>
< doseQuantity value="4" unit="{TBL}"/>
<l-- -=>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="105271807" codeSystem="1.2.392.200250.2.2.4" displayName=""
5mg"/>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<entryRelationship typeCode="COMP"">

<l-- -
<supply classCode="SPLY" moodCode="EVN">
<l-- -—>
<id extension="1" root="1.2.392.200250.2.3.1"/>
<I-- -—>
<code code="01" codeSystem="1.2.392.200250.2.2.10"/>
<I-- -—>

<effectiveTime xsi:type="IVL TS">
<low value="21040911"/>
</effectiveTime>
<l-- -=>
<effectiveTime xsi:type="EIVL _TS" operator="A">
<event code="1011000400000000" codeSystem="1.2.392.200250.2.2.20"
displayName="" />
</effectiveTime>
<l-- -—>




<quantity value="28" unit="{TBL}""/>
<l-- -->
<expectedUseTime>
<width value="7" unit="day"/>
</expectedUseTime>
<product>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="105271807" codeSystem="1.2.392.200250.2.2.4" displayName=""
5mg"/>
</manufacturedLabeledDrug>
</manufacturedProduct>
</product>
</supply>
</entryRelationship>
</substanceAdministration>

</entry>
<entry>
<substanceAdministration classCode="SBADM" moodCode="RQO"">

<l-- -
<id extension="99" root=""1.2.392.200250.2.3.1"/>
<l— -—>
<id extension="2" root="1.2.392.200250.2.3.2"/>
<text> 2 7 </text>
<l-- -—>

<effectiveTime xsiitype="IVL_TS">
<low value="21040911"/>
<high value="20140917"/>
</effectiveTime>
<effectiveTime operator="A" xsi:type="EIVL TS">
<event code="1011004000000000" codeSystem="1.2.392.200250.2.2.20" displayName=""
/s
</effectiveTime>
<l-- -->
<doseQuantity value="2" unit="{TBL}"/>
<I-- -—>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="105271807" codeSystem="1.2.392.200250.2.2.4" displayName=""
5mg"/>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<entryRelationship typeCode="COMP">
<l-- -—>
<supply classCode="SPLY" moodCode="EVN">
<l-- -—>
<id extension="2" root="1.2.392.200250.2.3.1""/>
<l-- -—>




<code code="101" codeSystem="1.2.392.200250.2.2.10"/>
<l-- -->
<effectiveTime xsiitype="IVL_TS">
<low value="21040911"/>
</effectiveTime>
<l-- -->
<effectiveTime xsiitype="EIVL_TS" operator="A">
<event code="1011004000000000" codeSystem="1.2.392.200250.2.2.20"
displayName="" />
</effectiveTime>
<l-- -=>
<quantity value="14" unit="{TBL}"/>
<l-- -—>
<expectedUseTime>
<width value="7" unit="day"/>
</expectedUseTime>
<product>
<manufacturedProduct>
<manufacturedLabeledDrug>
<code code="105271807" codeSystem="1.2.392.200250.2.2.4"" displayName=""
5mg"/>
</manufacturedLabeledDrug>
</manufacturedProduct>
</product>
</supply>
</entryRelationship>
</substanceAdministration>

</entry>
<entry>
<substanceAdministration classCode="SBADM" moodCode="RQO">

<I-- -—>
<id extension="99" root="1.2.392.200250.2.3.1"'/>
<l— -=>
<id extension="3" root=""1.2.392.200250.2.3.2"/>
<text> 1 7 </text>
<I-- -—>

<effectiveTime xsi:type="IVL_TS">
<low value="21040911"/>
<high value="20140917"/>
</effectiveTime>
<effectiveTime operator="A" xsi:type="EIVL TS">
<event code="1011040000000000" codeSystem="1.2.392.200250.2.2.20" displayName=""
/s
</effectiveTime>
<l-- -—>
<doseQuantity value="1" unit="{TBL}"/>
<l-- -—>
<consumable>
<manufacturedProduct>
<manufacturedLabeledDrug>




<code code="105271807" codeSystem="1.2.392.200250.2.2.4" displayName=""
5mg"/>
</manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<entryRelationship typeCode="COMP"">

<l-- -
<supply classCode="SPLY" moodCode="EVN">
<I-- -—>
<id extension="3" root="1.2.392.200250.2.3.1"'/>
<I-- -—>
<code code="01" codeSystem="1.2.392.200250.2.2.10"/>
<I-- -—>

<effectiveTime xsi:type="IVL TS">
<low value="21040911"/>

</effectiveTime>

<l-- -—>

<effectiveTime xsi:type="EIVL_TS" operator="A">
<event code="1011040000000000" codeSystem="1.2.392.200250.2.2.20"

displayName="" />

</effectiveTime>

<l-- -=>

<quantity value="7" unit="{TBL}""/>

<l-- -—>

<expectedUseTime>
<width value="7" unit=""day"/>

</expectedUseTime>

<product>
<manufacturedProduct>

<manufacturedLabeledDrug>
<code code="105271807" codeSystem="1.2.392.200250.2.2.4" displayName=""
5mg"/>
</manufacturedLabeledDrug>

</manufacturedProduct>

</product>

</supply>
</entryRelationship>
</substanceAdministration>
</entry>
</section>
</component>
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